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1. Which of the following terms is a like term of 537
(i) 34 (i) (=8/2) (iii) 5r (iv) 9 (v) 87

2. Which of the following terms is a like term of5 ?

(i) (=3x) (i) (=9x3) (i) (=7x%) (iv) (-9x%) (v) 2

3. Which of the following terms is a like term of (—=9) ?

(i) 9w (i) (=3w?) (i) 7w?* (iv) 9w (v) 7

4. Which of the following terms can be added to7 ?

() 4x2 (i) 8x% (iii) (=x) (iv) (=3) (v) (=7x3)

5. Which of the following terms can be added to9 ?

(i) (=472) (i) 97 (i) (=6) (iv) r (v) 274

6. Which of the following terms can be subtracted from Pl

(i) 4z (i) (=523) (i) (-62%) (iv) (=8) (v) (-92%)
7. Which of the following terms can be subtracted from(—8p2) ?
(i) (=2p2) (i) (=5p%) (i) (=7) (iv) (=p) (v) (=5p3)

8. Which of the following is a like term of (—8rs) ?
(i) 8s (ii) g (i) 7qr (iv) (=8r) (v) (=9rs)

9. Which of the following is a like term of(—6mn2) ?

(i) (—8n2) (i) (—17mn2) (i) (=3m2%n) (v) 7m (v) (=2)

10. Which of the following is a like term of4cd?

(i) 3cde (i) (=7c2de?) (iii) (=c2) (iv) (—cd) (v) (—c?e?)

11. Which of the following terms can be added to3w ?
(i) (=9xy) (i) (=4x) (i) y (iv) 1 (v) (=w)

12. Which of the following terms can be added to 4b%cd??

(i) (—8b%d) (i) (=2bcd?) (iii) 3bc? (iv) b%cd? (v) (—=bc)
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Which of the following terms can be subtracted from5£fg ?

(i) (=7efg) (ii) (=9ef) (i) (=7e) (iv) (=8) (v) 8fg
Which of the following terms can be subtracted from4v?

(i) (=3v2) (i) (=3£242) (i) (=7£2V2) (iv) 2v (v) 6tu?v

Which of the following is a like term of2)(yW2 ?

(i) (=7w2x%y2) (i) swxly (i) 4w?x%y (iv) 6wx?y? (v) 9wlxy

Which of the following is a like term of2r52q ?

(i) (=8g2r%s) (i) grs? (i) (=3g%rs) (iv) (=7qgr2s?) (v) 2qrs

Which of the following terms can be added to 4sr2t?

(i) (=4r%st) (i) 97252t (i) rPs2t2 (iv) (=5rst) (v) (=3rs2£2)

Which of the following terms can be added to 227

(i) (=2rst) (i) (—=9rs2£2) (iii) (=7r%s%£2) (iv) (=r2s2t) (v) 9/-%st2

Which of the following terms can be subtracted from(—2g2 h2f) ?

(i) (=5Fgh?) (i) (=8fgh) (i) 3Pg%h (iv) (=5fgh?) (v) (—6fg®h?)

Which of the following terms can be subtracted from 4k2/j?

(i) (=ajkl)y (i) 2/2K21 (i) 52k22 (iv) (—jk21) (v) (—8jk/?)



Assignment Key

1) (v) 2) (v) 3) (v) 4) (iv) 5) (iii) 6) (iii)
7) (i) 8) (v) 9) (ii) 10) (iv) 11) (v) 12) (iv)
13) (v) 14) (iv) 15) (v) 16) (ii) 17) (i) 18) (iv)
19) (v) 20) (iv)

Copyright © Small Systems Computing Pvt. Ltd.



